

تکلیف شماره ۱۲

گروه دوم (مستقیم)

زنگ رفتی

$$t_n = \frac{1}{r} \alpha(r)^{n-1} \rightarrow t_0 = \frac{1}{r} \alpha(r)^{n-1} = 256$$

۱- الف)

$$\frac{a_n}{a_1} = \frac{a_1 r^{n-1}}{a_1} = r^{n-1} \quad r = 16$$

ب)

$$\sqrt{a_1 a_{10}} = \sqrt{a_1 r^9} = a_1 r^4 = \frac{1}{r} \alpha(r)^4 = 32$$

ج)

$$121 = a_1 r^{n-1} \Rightarrow 121 \cdot \frac{1}{r} \alpha(r)^{n-1} = 256 \Rightarrow 121 = 2^{n-1} \Rightarrow n = 7$$

مطلبی

۲-

$$\begin{aligned} a_1 r^4 &= 12 \\ a_1 r^9 &= 99 \\ a_1 r^{16} &= 121 \end{aligned} \rightarrow \frac{a_1 r^9}{a_1 r^4} = \frac{99}{12} = \frac{33}{4} \rightarrow r^5 = \frac{33}{4} \rightarrow r = \sqrt[5]{\frac{33}{4}}$$

$$\frac{a_1 \alpha a_5}{a_1 \alpha a_1} = \frac{a_1 \alpha a_5}{a_1 \alpha a_1} \rightarrow (a_1)^5 = 243 \rightarrow a_1 = 3$$

۳- الف)

$$a_1 \alpha a_5 = (a_1)^2 = (3)^2 = 9$$

ب)

$$r^a r^b = (r^{\sqrt{2}})^2 \rightarrow r^a r^b = r^{2\sqrt{2}} \rightarrow a+b = 2\sqrt{2}$$

۴-

$$(n+1)(1-n) = n^2 \rightarrow n^2 = 1-n^2 \Rightarrow 2n^2 = 1 \rightarrow n^2 = \frac{1}{2} \Rightarrow n = \pm \frac{1}{\sqrt{2}}$$

۵-

$$\begin{aligned} \frac{-\sqrt{2}}{1+\sqrt{2}} &= \frac{-\sqrt{2}}{1+\sqrt{2}} = \frac{(-\sqrt{2})(1-\sqrt{2})}{(1+\sqrt{2})(1-\sqrt{2})} = \frac{-\sqrt{2}+2}{1-2} = -\sqrt{2}+1 \rightarrow 1-\sqrt{2} < 0 \\ n &= \frac{1}{\sqrt{2}} \end{aligned}$$

$a_1 + ar = 21 \rightarrow a + ar^2 = 21 \rightarrow a(1+r) \rightarrow \frac{21}{1+r} \quad \text{نيل وفتاح}$
 $ar + ar^2 = 12 \rightarrow ar + ar^2 = 12 \rightarrow ar(1+r) \rightarrow \frac{12}{1+r}$
 $vr = 3 + 3r - 3r \rightarrow 3r - 10r + 3 = 0 \rightarrow (3r-1)(r-3) = 0$
 $\rightarrow r = \frac{1}{3} \text{ or } 3$
 if $r = \frac{1}{3} \rightarrow a = 27 \rightarrow (27, 9, 3, 1)$
 if $r = 3 \rightarrow a = 1 \rightarrow 1, 3, 9, (27)$ $\Rightarrow$ نيزا لکين عدد: 27

$\frac{a}{r}, a, ar \rightarrow a = 27 \rightarrow a = 3 \quad 3 + 3 + 3r = 13$
 $a + ar + a \rightarrow 3 + 3 + 3r = 13 \rightarrow 3 + 3r = 10 \rightarrow 3r = 7 \rightarrow r = \frac{7}{3}$
 $10r = 3 + 3r \rightarrow 3r - 10r + 3 = 0 \rightarrow r = \frac{1}{3} \text{ or } 3$
 if $r = 3 \rightarrow 1, 3, 9$ if $r = \frac{1}{3} \rightarrow 9, 3, 1$

$S_n = a \left(\frac{q^n - 1}{q - 1} \right) = S_{10} = \frac{3^{10} - 1}{3 - 1} = \frac{3^{10} - 1}{2}$ - الف
 $a_1 = 2 \times 3^9 \rightarrow \sqrt{(a_1 \times a_{10})^n} = \sqrt{(a_1 \times a_{10})^{10}} = (a_1 \times a_{10})^5 = (2 \times 3^9 \times 2 \times 3^0)^5 = 2^5 \times 3^{45}$

$a, ar, ar^2, \dots \rightarrow \frac{ar - a}{a(r-1)}, \frac{ar^2 - ar}{ar(r-1)}, \frac{ar^3 - ar^2}{ar^2(r-1)}, \dots$ - الف
 $\frac{ar^r - a}{ar(r-1)} = r$

$a + ar + ar^2 + \dots + ar^{n-1} \rightarrow a + ar + ar^2 + \dots + ar^{n-1} = a(1 + r + r^2 + \dots + r^{n-1})$ - الف
 $S_n = \frac{n(n+1)}{2} \rightarrow S_n = \frac{n}{2}(a_1 + a_n) \rightarrow \frac{n}{2}(a + a + (n-1)d) = \frac{n}{2}(2a + (n-1)d)$
 $ar(s) = a + ar + ar^2 + \dots + ar^n$
 $s - s = ar^n - a \rightarrow s(r-1) = a(r^n - 1) \rightarrow s = \frac{a(r^n - 1)}{r-1}$